Case control study

Person-time case control study

Cohort study person time Case control study
cohort case control person time
cases X1, Xo Control case
study base person time exposure
exposure bias
Exposure No-exposure

Cases X, X
Person-time T, T,

IRR = 11/15 = (Xo/Ty) / (Xo/ Ty) = (Xo/Xo) / (T1/Ty)

Control  exposure study base control  study base
sampling fraction Exposure f,,
no-exposure fo control control
exposure =1, (no
selection bias) study base
control 30
control 30 case 80

exposure outcome

non-exposed

Exposed

Case

SIS
gt

Control non-case/non-control in study base

Control exposed non-exposed study base exposed



non-exposed

IRR = 1./lg = (Xo/Ty) / X/ Tg) = (XifXo) £ [(To/To) x (Fu 7 )] = (Xo/Xo) / (Y /Y )=

OR
Y  control case IRR = OR
Open cohort study case IRR = OR
1I<IRR OR,
1>IRR>OR case-control study IRR = OR
cohort study rare assumption
Case _ control
Cases  control exposure
Control study base
case control study exposure
exposure Vs. no-exposure study base
control study base
control
bias
control control
control control
control
(at risk) fair
Open cohort case control study incidence case prevalence



case OR Dbias

control exposure

prevalence D, = Dy

OR =1/1,=11D /7 1,D=[(Pi/1 - P))]/ [(Po/1 - Py)]

Primary vs. Secondary study base

base population case primary study
base nested case control study
population control
random digit dialing bias
case bias
(restriction) case study base

secondary study base (case-defined study base) case control

study study base



	Case control study
	Primary vs. Secondary study base


